
FITTING INSTRUCTIONS. 
TO BE FITTED BY A QUALIFIED TECHNICIAN.

(1) Remove upper engine mounting bolt, located through the fairing 

opening.

(2) Assemble bolt through the aluminium bush into correct position.

(3) Tighten to 40NM torque.

(4) Slide bullet moulding onto aluminium bush.

(5) Screw M6 bolt into front of bullet moulding hand tight.

Left Hand Side Bullet Frame Slider - STREET
FS-V4R-2011-LHS-S

CPB-10-50-13

M10x60

CPM-3

(1) Remove upper engine mounting bolt, located through the  

fairing opening.

(2) Assemble bolt through the aluminium bush into correct position.

(3) Tighten to 40NM torque.

(4) Slide bullet moulding onto aluminium bush.

(5) Screw M6 bolt into front of bullet moulding hand tight.

Right Hand Side Bullet Frame Slider - STREET

CPM-3

CPB-10-50-13

M10x70

APRILIA TUONO V4R 2011 - 2012

FS-V4R-2011-RHS-S


